
 
 

Team 1 (bat first) -  Team 2 (bowl first) -  

1st Pair 1st Pair 

1st Over 2nd Over 1st Over 2nd Over 

Bowler: Bowler: Bowler: Bowler: 

        

        

        

Runs: Wkts: Runs: Wkts: Runs: Wkts: Runs: Wkts: 

Cumulative total: Cumulative total: Cumulative total: Cumulative total: 

2nd Pair 2nd Pair 

3rd Over 4th Over 3rd Over 4th Over 

Bowler: Bowler: Bowler: Bowler: 

        

        

        

Runs: Wkts: Runs: Wkts: Runs: Wkts: Runs: Wkts: 

Cumulative total: Cumulative total: Cumulative total: Cumulative total: 

3rd Pair 3rd Pair 

5th Over 6th Over 5th Over 6th Over 

Bowler: Bowler: Bowler: Bowler: 

        

        

        

Runs: Wkts: Runs: Wkts:     

Cumulative total: Cumulative total: Cumulative total: Cumulative total: 

Team 1 scored ____________________ runs for _____________________ wickets 

Team 2 scored ____________________ runs for _____________________ wickets 

 

Match Result 
 

______________________ beat _________________________ by ________ runs. 


